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TiME: 2 % HOURS

msmﬁmz@m TO CANDIDATES
1. Write your name and index number in the Qpacss srovided above.
2. This ::*Arser contains two sections. Sace* m fand W,

3. Asnswerallthe L.a,,@mm in section Iand ONLY fve in section Ii.

4, Al answers and working MUST be wiitten on the question paper in the spaces provided below
each quesiion. '

5. Marks may be awarded for correst working even if the answex is WIORg

6. Negligent ‘and sloven! y work will be pa;na? ized.

T *Jon—pmwmame sit et caloulaiors and M aahemas,icai tables may he used, except whers stated
_'at}*mr 1538, -

TOR EXAMINERS TUSK ¢ ONLY
' Section 1 ' e :

& i : o~ " i e e 4 b 1 - i i b ra
(Question |1 |2 |5 14 |5 (6 {7 T8 19 110 BE 13 |14 |15 | 16 | Toul
i k| i | ] ; - : . : j
i 3 i i 1 H < i 1 ] i
[Marks | ! IR L b |
S = | 3 { i | [ i . i i
Section I R/ r@ﬁ“* TOTAL
b 3 oy ] 1 2, ST, i [ § T ] ! : e
| Qestion | 1/ i is Ji 9 20 21 i 22. {23 |24 | Total X I ;
4 : i i - o | | i
Fe= £ QEceaE ) ' T : ! m! !
| Marks " - | | 5 i | ¥ | b i
L o ! s % .2 . P —

This paper consists of & # prinded pages.
%

Candidates must check 10 asceriain that ;zg” peges are printed as indicated
and that no guestonis) am’sé?’g missing.
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MakeiZ"L_hc sU’bjcct of the formula.

ihp A can fill a tank in 2 f’& hours Whﬂ" mp B can fill the same tank in 4 hours. Taﬁ Cempty the

ﬁ'gl? tank 0 5 hours. How long will it takc for the tank to be completel y full if the three tapca are

1
i
)

ce: sened at the same time 'm(i then tap A clmed aftw:*r howis. _ ' {Jmks)
Z 12172 Mathematics T Over
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7 Mr. Munyua invested sh 50000 in a micre financial Sank which pays interest at a rate of 18% p.a
compounded semi-annually. Caleulate the ;wmg@r of vears it will take | lnr dic‘ Mouey
acouniulate to sh 83 85 - 6\Q (3mks)
. oS _
R
0"0
- eF
\Q}
& :
X
=)
$H
&’
X
Q
X .
9 ; o
Y S o B )
- " h?gﬁ"mmmﬂ 2L et | dp—3 3 maps an object of arca 21cm’ to an image of area e,
\4p=3 3p) |

&

&ﬁetermiﬁ e the value of P

&
&
9. In the fgure below TP is tangem tﬂ the circle at T. Angle T = 40“ and O is the centre of the
cieele.
|
| b B
| Find the size of angle RST {3mks)
F e ;
|
|
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cgmaht 2 significs

eTceniage error Lha* occurred in converting into

decimal form in {a) above.

f’..;, ffi upto iht immm

e
G

Ussthe e pém son above to find the value of {0.957
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& | (3mks)

9x” 4 93" ~18x+6y =26 : !
- .
e\
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14, In the i@ below BX is a tangent to the circle at B. ATCX and BTD are straight lines. AT =

6o @K = Som, BT = 4.8 cm and TD = Seon.

<
&°
<
J
¥
&

Find the length of ’
(ay TC (2mks) -

by BX (2mks)
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§>& 6. Thes &urs below shows

pris TeClanguiar bage,
¢E=&3='ﬁm.4§£=33=§mavd5€:fﬂ 21

P e Ter T an
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, ] ; o
1 UM P is the mid point of CD.
I

A L 12 w
By Angle betyween iine BF

- R Tocma 47 e [Zratay
iin and the bizne ABCD, {<mks}
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SECTION 1 (5 VIARIKS)

Answer enly FYV E‘%igsﬁwns i this section,

The second, sixth and eighth terms of abm?“:thuwtw ‘s(:‘}(]llf‘ﬂlbf-‘ forms the first iree consccufive

feims of a geomelric sequence. %06

3 _
A Write an expression of st\kﬁﬁ terms of a hence find d if 3 = -18.
.: .\\'
&7
o
&
R
Q
X
&
@‘o
NL
2
Q&QJ
@
\
A\
& i

il Find

(i) ithe sum of the first 5 terms of the arithinetic series.

{ii} The surn: of the ﬁ;r_‘_s_'t 3 Z;té’nhs of the Geometric sories.

U v County Academic C‘b?_izrﬁé'tfe%_ : 8  § ?}/J Maihematics

(1) Find the first term and the common ratic of the geometric sequence.

{(4mks)

{2mks)

{Zmks}

Zmks)
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. 6‘
Jse the J&p‘cnuin rule with six 11‘11,10!1 IQQ mtsmdh

\he arca bounded by the curve

(5mks)

~ {3mks)

percentage £170F

b {13 L
ya 23t +3x+ 1, the X0 axis and lbz@r\rdnmtoa =0 and X
066
N
)
2
<
& )
&
&7
&7
R
N Q
: .Q’O-c’
& |
NS
2
&°
@
&
by  Calculate the exact area in (a) above by integration.
_‘_ ()  Ass a,.mmg the area. cak uiatf“u in(2) shove is an estirnaie, Calculate the
* 1‘;\1ada_vs}'heﬂ the 'trapa’fmum rule is used leaving your answer {0 2 decifmal places. '
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Censtruct a locus of P such that AP = PC, _ (2miks)

Construct locus of Q such that it is equal distance from AR and BC and Locus of R which

is 2m from AC, : {3mks}

Flowers are to be planted such tha they are nearer AC than AR and less thar Sm from A.

Shade the portion with flowers, . {Zmks}
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- i - 1 \6‘ {1 0 . s ?? :
2L The position of two towns are A {6001*3, 29 ‘%"Q‘f'and B (60 N, 43°E). Take 7 = ‘,? , xadius of earth
R - I -
) Ia . rq"’:'{}k.] ‘} ) fb-cQ
L= 6370k @Q
(qy  Findthe distance bmww@&g and B slong the parallel of latitade. (2mks) '
\\ o
&
&7
Q}?
R
<
& , A ' _
L%Q@ Town C ig south of B a distance of 4004k, Find the position of C. (2mks)
Q;\L_@
&°
N

&
5 1001

¢y A military jet left town A to () thmugh B. Its average speed i
ko/br. 1t stops at B for 30 min for foelling. de the local time of C thn jet arrived at  GH
¥ o e  (3mks)

at local time 0821018

Amiher Jet laﬁ A, towards smﬁh o town D hen East to C. Emd the distance covered fr
- L (m!

(D
AtoC ﬁlmugh D m nautmai miles.
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e j ; ; : <o
23 {(a) A die and a coin both fair are tossed together.
i} o '
(i) List the possible outcomes. @R (2mks) “
: _ R %, =
% .
2
R
06
"
\Q}
§§‘\ b
X
&7
&’
R |
(ii) & QFind the probability of getting an even number on the die and a tail on the coin o7
Cé(’Q odd number on the die and a head on the coin. ' (2mks)
N ©
<
&*
.\QI

(i) Find the probability of _getti_'ng_ a number greater than 3 on the die and a head on the
' ' (1mk)

cotn,

LY

(b)  The probability that a student gets a grade A in Maths is -I_{; if she gets a grade A in

Mathematics then the probability that she gets grade A in Chemistry is o If she does not

get grade A in M’.athé the ﬁrqba‘i:iiliiy that she gets grade A in Chemistry is —g e

| Find; R e
(1) The probability that she get grade A in Chernistry. - (3mks)
{iiy  The probability that she never got a gracde A in Chemuistry. {Zmks)
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The profit for one cup is Sh 30 and for ’i&% plate is Sh 50. Use your graph in (h) sbove to -

determine the number of cups and @;1&@1‘_@? plates he should buy in order fo make

@¥r. ot i
dpnz maximumn profit,
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